CMS, 13 TeV, Ungroomed jet mass m, (1000 < pr < 1100 GeV)

= 7‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T T ‘ T TT4
9.0009 - —
& s |_ —+— Data 3
.0008 —— Sherpa 2 (cluster)
0.0007 [ = = = Sherpa 2 (lund) =
= —— Herwig AO (cluster) -
0.0006 c I e - == Herwig AO (string) 1
0.0005 = —
0.0004 — 3
0.0003 + =
0.0002 £= ——— =
- | == =1 .
0.0001 |— %‘ ——— —
OjHHHH'H—\UFI‘_HHHHHHH'H\H\\Hé
1.4 E Jp— =
1.3 ;H_'_ E— -_-_-_-_|_| é
% 1.2 E =—=== =t — J
e e | | . l l | E
O o9EH] | I T T T I 5
= 0.8 g4 —=
0.7 —=
g8 IS T O N U DU U B
0.5 [ T T [ T [ T T [ =

50 100 150 200 250 300 350 400 450 500

my



